¥ -2x+1=(x-1)2




U 5 ol 2P ARl A2?
@© 2x? =2(x*-3)? @x2 =-2x-1
® (x-3)2=(3-x)? @ x(x-4)=x*-4

Q@ REFe FAHO= oSt x2 4+ 2x+1 =0 °Jth




D x=0E=x=-3 @ x=0FEx=-2

Oyx=0FE=x=-1 @ x=0E=x=1

x(x+4)=3x,x2+4x-3x=0
P+x=0,x(x+1)=0
Lx=0FEx=-1




4.

ot 5 11 Aol §4] gk AL

D 972 = (100 — 3)% = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x4.9=(5+0.1)(5-0.1) = 52 — 0.12 = 24.99

® 3012 = (300 + 1) = 3002 + 2 x 300 x 1 + 12 = 90601
@ (VI+ VB)(V2- VB) = (VD)2 - (VB)? = -1
@)(-VI0- VB (VI0- 3) = (VIO - (¥ = &

B

® (- V10 - V2)(V10 - V2)
- V2 - VI0)(- V2 + V10)




F oA k2 +3x+2 @ x? - 2x -8 9

O x+1 @X—I—Z ® x+4

T59 Q=Y
@ x-4 ® x-2

¥ 4+3x+2=(x+1)(x+2)
¥ -2x-8=(x—-4)(x+2)
webd] BE9 A4 (x4 2) oleh.
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® x+1 @x+2 ® x+3 @ x+4 ® x+5

(Wol) =x? +4x+4 = (x+2)2
webd o1 HAZIE 0] o W] Zol x 1 201t




7.

O (x+y+1)(x+y-3) @ (x+y-1D(x+y-3)
(@)(x+y—1)(x+y+3) @ (x+y+1)(x+y+3)

® (x+y-1D(x+y-2)

— (A-1)(4+3)
=x+y-1(x+y+3)




@ a+b+2 @ a-b+6 ® a+b-6
@a—i—b—i—G ® a-b+5

B

a+b=A= 54

A(A+1)-30=A42+A4-30
=(A+6)(A-5)
=(a+b+6)(a+b-5)

whakA Al2o] dole a+ b+ 6 oltt.




x7F-1, 0, 14 o, o]2pFH 4] x2 - 3x—4 =0 9] S| & FotH?

@1 @0 ® 1 @-1,4 4

¥ =-3x-4=0, (x-4)(x+1)=0
x=4E=x=-1




10. oA FAHA (x-1)(x-5) =42 (x+A)2 = B & B2 ehd o,

A,B 9| 127

D A=3,B=38 @A:—3,B:8
®A=2 B=4 ® A=-3, B=-8
® A=4,B=6

B ‘
(x=1)(x-5)=4

X -6x=4-5

X2 -6x+9=-1+9

(x-3)?2=8,A=-3, B=38




11 46 + (m—3)x + 16 o] SPAAZAlC] HES sHe m o g BF
T3] 1 g Fahu?

O -13 @ -16 ® -8 @6 ® 19

B ~

4x% + (m—3)x+ 16 = (2x + 4)?
m—3=+2Xx2x4==+16
m=19 = m=-13

. 19-13=6




12, xof T3 o2 ex2 - 13x-20 & 2l

F825] g A10] (ax-5)(5x+b)
A, a+b+c o q2?

D 16 @ 17 @ 18 @ 21 @22

B

(ax - 5)(5x + b) = bax? + (ab — 25)x — 5b
=cx? - 13x-20
5a=c,ab—-25=—-13 , =5b = —20
b=4,a=3, c=15
La+b+c=3+4+15=22
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o]xFAl x2 + Ax + B & 14 £
A5 Hof (x+4) (x+3) ©] HA, BXlol=
(x+1) (x+7) o] =3t tha &

AL

@D@+2)(x+6) @ (x+1)(x+6) O (x-2)(x—6)
@ (x-1)(x-6) ® (x+3)(x+4)

FAolE 2 4 Tx + 12 oA A5 12 & HA H,
Aol x® +8x+ 7 A x o A 8 & WA BTt

wpapa] 0] 7] o] ZFAZ &% 4+ 8x + 12 = (x + 2)(x + 6)




14. Wol7k4x? + 13+ 3 0] o7} dx+ 1 Q) HAAMP ] L9
71011—_‘7
= T .

DO x+1 @ x+2 @x+3 @ x+4 ® x+5

4x%2 +13x+3 = (x +3)(4x + 1)
wiebd Rl ol x4 3 ol




20 - 2y & AFRafotn?
@ (2x+ 3y)(4x - 6y) @ (dx + 6y)(2x - 3y)
® 2(2x+ 3y)(2x - 3y) (@)%(zx 3y (20— 3)

® %(2)6 + 3y)2

= %(2x + 3y)(2x — 3y)




16.

W4 3x(Ax - 5) = 6x° + 2 ©] O A ] 7] 9k 4 3ol 2
% g A2

® 0 @2 G 4

Folal A Qe st
3Ax%> —15x—6x2-2=0
(BA-6)x?—15x—-2=0

A =201 34 -6=0°0]E2 dx}g2lolct,




17. x7F-2,-1,0,1,24 of, G4 2x% - 5x +2 =0 <] =2

®2 ©@-1 ®0 @ 1 ©OF

242 -5x+2=0

(x=2)(2x-1)=0
1

X x=g

A x = 2




18. oA x?—2x+a =09 T o] 1- V5L W ¢ O] FL& F5FH?

o6 @+« @2 @0 ® 2

2 -2x+a=0°1- V5= tfdstA
(1-v5)2-2(1-V5)+a=0
1-2V5+5-2+2vV5+a=0

L a=-4




19. xof Bt o|ZYA A a

A ax? — px—ap —3q = 0 ©] a 9] Fkoll A Flo]
Fdx=39 T2 7 o, p+q 9 = HotH?

o2 @1 @) @ 1

x=309] TO|ER 9a—-3p—ap—-3g=0°]1
a ©] gkoll T®AIQlo] dHstE R
(9-p)a-3(p+q) =0 ] 25t

p=9 g=-9°[h

p+qg=0




20.

Ol YA A 222 + 4x— T = 0 9]

At 2L a,4x2-6x-3=0 9
T2 bt & o, a? - 2b% + 2a + 3b O] FL2?
D 0 @ -1 ® 1 @ -2 ©F

B

e

a7t 2x® +4x -7 =0 9] o] B2 thelstd

H
7
2a2+4a—7=0<:>a2+2a:§
b7F4x®> —6x-3=0 9 Zo|E=2 tjYstH

4b2—6b—3:0<:>2b2—3b=g
. a* = 2b% + 2a + 3b = (a® + 2a) — (2b* - 3b)

J
2

T_3_,
2




21. oA AHA ¥ —ax-T+a=09 T
T-5FH?

@)3

o171 Alo] x 9141 -2 & v st
(-2)2+2a-T+a=0
3a—3=0

La=1

P-x-6=0

(x=3)(x+2)=0
Lx=3, x=-2




22.

OJZPYAFA x2—4x—a =0, x> +bx+c =09 F&N |7t x=-1
I, x4 bx+c=092 F AL IANL W, a+ b+ e O F2?

o

@ 6 @8 @ 10 @ 12 © 14

B ~

x=-12x>-4x-a=0° HY3H1+4-a=0

ca=

WP tbx+c=02FTx=-1= %=t
(x+1)2=0

X4+2x+1=0

b=2,c=1

La+b+c=5+2+1=8
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23.

@ 2 ® 3 @ 4 ®)5

D1

Ek=-10k,




24. H= T oA AT I 2ol LA Ax]ol 27

-

B

@ 3x2=2,x%= V6

2
=%
@3(x-1)(x-3)=0,x=1F=x=3
@x?-2x=15,(x-1)2=16,x-1=24,x=5F=x=-3
®@3(x-1)2=12,(x-1)2=4,x-1=+2,x=3FE=x=-1







